CLASS - VI
SUBJECT - COMPUTER

1. Which of following are all output devices?
A) Dot matrix printer, MICR, CRT monitor

B) CRT monitor, laser printer, Pen plotter

C) LCD monitor, laser printer, OMR

D) Pen plotter, LCD monitor, barcode reader
E) None of these

2. Multimedia is a technology which presents the simple text information in an innovative way Using
multimedia you can represent information through

A) Audio

B) Video

C) Animation

D) All of these

E) None of these

3. Compiler converts high level language into machine language. It converts ___at once.
A) Entire program

B) Line by line

C) One instruction

D) one paragraph

E) None of these

4. Observe the following picture. What will be the file extension after saving the file?
A) .txt

B) .exe

C) .pdf

D) .jpg

E) None of these

5. Touch Screen is an:
A) Input device

B) Output device

C) Both [a] and [b]

D) Processing device

E) None of these

6. Which one of the following buttons updates the currently displayed Web page on the Internet Explorer?
A) Favourites

B) Home

C) Refresh

D) Channels



E) None of these

7. An Operating System is;

A) a collection of input-output devices.

B) a collection of hardware components.
C) a collection of software subroutines.
D) a collection of hardware and software.
E) None of these

8. Zippingafile __ the size of the file.
A) Increases

B) Decreases

C) Does not change

D) May decrease or increase

E) None of these

9. In MS-Word 2007, how many times you have to click on a particular word to 'select it'?
A) Once

B) Twice

C) Thrice

D) Four times

E) None of these

10. Interpreter is used as a language translator. Which statement is valid about interpreter?
A) It translates one instruction at a time.

B) Object code is saved for future use.

C) Repeated interpretation is not necessary.

D) All of these

E) None of these

11. Which of the following protocol is used by Internet mail?
A) TCP/IP

B) FTP

C) SMTP

D) PPP

E) None of these

12. The purpose of Auto Sum command is:

A) Total any range that you have selected.

B) Add grand total to a range containing other totals.

C) Locate and total the rows or column in a range nearest to the current cell.
D) All of these

E) None of these

13. In MS-Excel, Today() function puts the current:



A) System time in a cell.

B) System date and time in a cell.
C) System date only.

D) All of these

E) None of these

14. Which one of the following types of optical storage media has the largest data storage capacity?
A) DVD

B) CD-R

C) CD-RW

D) All have same storage capacity

E) None of these

15. Plotter accuracy is measured in terms of repeatability and .
A) Spooling size

B) resolution

C) Vertical dimensions

D) intelligence

E) None of these

16. Alexander: Slides of power point presentation can be view in outline view.
Albert: Presentation view is an option | view menu.

Alice: PowerPoint is a word processor. Who is correct?

A) Alexander

B) Albert

C) Both are correct

D) both are incorrect

E) None of these

17. Which one of the following features in MS-PowerPoint adds special effects for appearance and timing
between each slide?

A) Handouts

B) Auto content wizard

C) Transition settings

D) All of these

E) None of these

18. The process of creating integrated circuits by combining thousands of transistor-based circuits into a single
chipiscalled .

A) VLSI

B) Transistor

c)IC

D) Chips

E) None of these



19. The programs in the Accessories group are also known as:
A) System Software

B) Windows Built-in Applications

C) Important Software

D) Entertaining Software

E) None of these

20. Babbage was a great scientist and he is known as father of computer. Which one of the following
computer was invented by Babbage?

A) Analytical Engine

B) Arithmetic Machine

C) Donald Kunth

D) Leibtniz Calculator

E) None of these

21. Identify the most important feature of fifth generation of computers.
A) Integrated circuits

B) Microprocessors

C) Speed

D) Artificial intelligence

E) None of these

22. Which one of the following types of monitors uses vacuum tube for applying a focused beam of electrons?
A) LCD

B) CRT

C)TFT

D) All of these

E) None of these

23. Presenting data in the form of charts and graphs can be done very easily in:
A) MS-Word

B) MS-Excel

C) MS-Access

D) MS-PowerPoint

E) None of these

24. Protocol is a set of rules. Which of the following is rule set for transferring text, graphics, videos etc. on
World Wide Web?

A) HTTP

B) NW Link

C) Net Bids

D) Apple Talk

E) None of these



25. There are many computers evolutions. Computer that has high speed and memory. It consists of many
processor working together and process data faster is called:

A) Mainframe computer

B) Supercomputer

C) Minicomputer

D) Macrocomputer

E) None of these

26. Which one of the following shortcut key is used to enter current time in Excel 2013 cell?
A) Alt + Shift + F1

B) Ctrl +;

C) Ctrl + F9

D) Ctrl + Shift +;

E) None of these

27. LCD is the known for its low power consumption. They are flat screens. What is the expanded form of LCD?
A) Light Composed Display

B) Light Crystal Display

C) Liquid Crystal Display

D) Liquid Composed Display

E) None of these

28. To open spell checker in Word 2013, we choose:
A) Insert—> Spelling

B) Review Comments—>Group Spelling

C) Review Proofing—=>Spelling

D) Page Layout->spelling

E) None of these

29. Which is not the extension used saving for word document 2013?
A) .pptx

B) .xlsx

C) .docx

D) Both Aand B

E) None of these

30. Which level of language is assembly language?
A) High level programming language

B) Medium level programming language

C) Computer language

D) Low level programming language

E) None of these

31. To 'Replace' the word in a word document 2013, we use which shortcut key?
A) Ctrl + F



B) Ctrl + H
C) Ctrl+ E
D) Ctrl + |
E) None of these

32. Which of the following is true about firewall?
A) It protects your PC against unauthorized access.
B) It authorises other users to access your PC.

C) It is one of the features of Windows 10.

D) Both [a] and [c]

E) None of these

33. What should be the first tag in any HTML document?
A) <head>

B) <title>

C) <html>

D) <document>

E) None of these

34. What is e-commerce?

A) Buying and selling computer products.

B) Buying and selling products and services not found in stores.
C) Buying and selling international goods.

D) Buying and selling products and services over the internet.
E) None of these

35. Which of the following should you use if you want all the slides in the presentation to have the same
"look"?

A) The Slide Layout Option

B) Add a Slide Option

C) Outline View

D) A Presentation Design Template

E) None of these

36. What is the default number of lines to drop for drop cap in MS-Word 2013?
A)3

B) 10

) 15

D) 20

E) None of these

37. Diamond shaped symbol is used in flowcharts to show the:
A) Decision Box

B) Input/output Box

C) Processing Box



D) Terminal Box
E) None of these

38. The process of identifying specific rows and columns so that certain columns and rows are always visible
on the screen is called:

A) Freezing

B) Lacking

C) Selecting

D) Fixing

E) None of these

39. Which among following is odd?
A)CD

B) DVD

C) SD Disk

D) BIOS

E) Hard Disk

40. How do you lock your desktop using the keyboard shortcut key?
A) Alt +L

B) Window Button + L

C) Shift + Ctrl + L

D) Alt + Ctrl + L

E) None of these

41. Match the following Column | with Column II:
Column | Column

1. Ctrl+W i Center Alignment
2. Ctrl+A ii. Close an active file
3. Ctrl+B iii. Select All

4, Ctrl+E iv. Make text bold

A) 1-3iii, 2-3ii, 3->iv, 4->i
B) 1->i, 2—>iv, 3>iv, 4->ii
C) 1->ii, 2=>iii, 3->iv, 4->i
D) 1->iv, 2->iii, 3->ii, 4->i
E) None of these

42. Which type of switching is used in Internet?
A) Packet

B) Telephone

C) Circuit

D) Telex

E) None of these

43. Who coined the term Hypertext?



A) Ted Nelson

B) Douglas Engelbart
C) Marc Andressen
D) Charles Babbage
E) None of these

44. A computer virus is a computer program or a piece of code that is loaded onto your computer without
your knowledge and run against your consent. VIRUS stands for:

A) Vital Information Resource Under Seize

B) Vital Information Reason under Sieze

C) Vital Information Resource under System

D) Virus Information Resource under Sieze

E) None of these

45. Which computer language is made up of O's and 1's and it is the basic computer code?
A) Fortran

B) Binary

C) Basic

D) Pascal

E) None of these

46. Which key on keyboard of a computer does not have its name printed on the key?
A) Esc

B) Shift

C)F1

D) Spacebar

E) None of these



